Lesson -10 Multiplication

Sona has caught a fever 3|

On Monday Sona caught a fever gy
Grandpa saw him shiver. LEMZE 3

The doctor came in the evening
He prescribed him some medicines.

He got well in three days
By taking two pills a day

Next day Sona went to school
Do you know how many pills he took?

On day one he took 2 pills D G

On day two he took 2 pills G G

On day three he took 2 pills D D

Total number GG+GG+GG=GGDGGG
2 + 2 + 2 = 6

of pills he took
That is, 3 (three) times 2 (two) = 6
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Let us count

&5 &5 &%
2 + 2 + 2 =06

That means 3 groups of 2 flowers =6 flowers

Or 3times2=6

! \ | ! | | \

B D 3% B 3% e 3%
3 + 3 + 3 + 3 =12
That means 4 groups of 3 fishes = 12 fishes
Or 4 times 3 =12

&a& @@
4 4 =

+ 8
That means 2 groups of 4 mangoes = 8 mangoes
Or2times 4 =8
AA AL . AL-BD. AL
2 + 2 + 2 + 2 + 2 =10

That means 5 groups of 2 shuttles = 10 shuttles
Or 5 times 2 =10
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Count and write

LA L R AR S
2 2

+ 2 + 2 +

= 8
Or, adding 2 for 4 times gives 8 or, 2x 4 =8

ﬁﬁ+ﬁ+
3 e 3 re 3 =9
Or, adding 3 for 3 times gives Y or, 3 X3 =9

VNN UL SN SUUe: SUeN

4 + 4 + 4 + 4 + 4 =)
Or, adding ....... {3 R times gives ...... O Kiisaiia = sonsenns

l B E B Bm B %
5 + G NV) I 5 = § + b =30
Or, adding ....... (SRR, times gives ...... O vscnssBoavieon =p—

S 888 888388888 &89
6 + 6 + 6 + 6 + 6 + 6 = 36

Or, adding ....... for......... times gives ...... O, eeeee X e, o T

The number of times a particular number is added is the number by which the
given number is multiplied. Multiplication is represented by the symbol “x
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Let's write by using the multiplication symbol

Wik« (B8 - (B8

2 + 2 + 2 =06 Or, 2%X3=6

-+

adad - aaa  aad aaa
3 3 3 3 = 12

+

Or,

Y A 2 M’W+?ﬁ'>‘? ST A
4 + 4 + 4 + 4 + 4 =20
Or,

-SSR R R R ) )

3 + 3 + 3 + 3 + 3 15
Or,

Fill in the boxes with correct answers

ﬁ E |+ Q ﬁ 2] x [2] = [4
TP oo L] =
ST | EEES " .
PEEEY - PYIYY x .




Let's count the balls

BES
AHA66

4 balls have been added three times
That means, 4+4+ 4 =12

4x3=12

Now, let's count the balls in this way

+

3 balls have been added four
times.

which means, 3 + 3+3+3=12

Or, I3x4=12

& 6 & 6

&
o
@

& 4 6

We arrive at the same result by counting the balls in both ways.
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Fill in the blanks

2220 .
@’D .......................

= s Mosisiion =
Rewrite the following by using ‘+’ sign
2 X4 means, ....... 4times2.or, 2.+ 2. +.2..+.2.
12x3 means, ......... times 12. or, ........ F oreeens F orreen
15%4 means, ....... times 15. or, ........ T F e Frrreenn

Ox 6 means, ....... tiMes 9. OF, vcocoe. F evvveee F s Fereie Feeveeee e,

4%9 means, .........times 4. or, ........ - S F vrsrees T B s A

_ &
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Fill in the blanks

T+T+T+T+7+7 =.0.x.86. =42
5+5+5+5 T S S—
d+4+4+4+4+4+4 P S
949+9+9+9 o Tretret A i ki
10+ 10+ 10 RO, T
13+13+13+13 T L SN
J+3+3+3+3+3+3+3 =002
20 + 20 = g

Let's see, how many times of 1 is equal to what

te 1 one time (once) | 1x1=1
t;' G* 1two times (twice) | 1 X2 =2
G' G* {;‘ 1three times (thrice)| 1 X3 =3
G' G' 6' s' 1four times 1 x4=4
G’ G' G' G*(;' 1 five times 1 X5=5
G’ G‘ Q;‘ Q'G'G' 1 six times 1 X6=06
G‘ (;' G* G‘Glﬂ;'{;' 1 seven times 1 XT=7
{;‘ (;' G* G'G'G'{;I{; 1 eight times 1 X8=8
G‘ G‘ G* G‘G'G'{;'{; G; 1 nine times 1 X9=9
G' &;* G* G'G'G'G'G {; 1 ten times 1xX10=10




How many times 2?

7~

0 1 23 45 6 7 89 10 11 121314 1516 17 18 19 20

The frog jumps 2 steps every time.
Which numbers will the frog reach?

2 steps] time Zx1 =\Z
2 steps 2 times 2x2 =4
2 steps 3 times 2% JaxNp
2 steps 4 times 2x4 =8
2 steps b times 2x5 =10
2 steps 6 times 2%x6 =12
2 steps 7 times 2x7 =14
2 steps 8 times 2x8 =16
2 steps 9 times exd =18
2 steps 10 times 2x10=20



How many times 3 ?

0 1 23456 7 89 1011 12 13 14 15 16 17 18 19 20

Mamoni jumps 3 steps every time.
Which numbers will Mamoni reach?

3 steps 1 time 3%l =85
3 steps 2 times 32 =6
3 steps 3 times 3IXE"9
3 steps 4 times $x4 =12
3 steps 5 times Ixd =15
3 steps 6 times Jx6 =18
3 steps 7 times IXT =21
3 steps 8 times Jx8 =24
3 steps 9 times 3x9 =27
3 steps 10 times 3x10=230

T
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Let us complete the multiplication table of 4

Multiplication table of 4

4donetime |4 x] =4

e00e
ee = o9 & 4 two times |....x ......= ...
[ I 2 X | [ 1 oK ] [ T oKX ] A . R e,

4 three times
000e || 0008 | 0008 000 4'four HINES [.rrssX cevvss = vece
000® | 000® | eese | eene >

4 flve tlmes ...... - A —
'YIL
e0se | eeve | | eeoe e )

Ll S1X times ceri i ssinns T esesas
eo0® | eese | eese
e00®  o00e | e00e [ eene daten: | Fosone _
oo | oeve | seoe times
o009 | eeee | eeve | 0ene . .

4 Eight times .............
0000 | 000e | 0000 | eene
000®  e00e | eece eene | eese

4 nine times ... vov = ..
oo0oe || eoeoe | e0ve | eene
000® | o00e | oese | eese | sene ‘

-.’l ten times . ST I
000% | e00e | 000s | 000e  eene




How many times 5 ?

0 1 2 3 4 5 6 7 8 9 1011 1213 14 1516 17 18 19 2v

The rabbit jumps 5 steps every time.
Which numbers will the rabbit reach?

5 steps 1 time 5x1 A

5 steps 2 times 5%2 = 10
5 steps 3 times SEOND 15
5 steps 4 times dx4 =20
9 steps 5 times hx§ =25
5 steps 6 times Ox6 =30
3 steps 7 times dxrYT =35
J steps 8 times ax8 =40
J steps 9 times 9xX9 =45
J steps 10 times 9% 10=230



Fill in the blanks

IXL =3
IEE e
K Jhui I
SEL =anans
38 = 15
SR =, eiesenne
FET =
5 1,8
SR cmg
3x10=_30...
Fill in the blanks
2xhH =
3IxhHF =
4%X0B =
<8 =
IxXT =
4x9 =

4x] =..rnns

6x1 = 5

B2 B
OX3 =N
D XN i
FED =....cc0n
s W C o
INL/ = assvivaas
PXE =..cocerenn
B0 =i
0x10=_ 50



Solve-

(1) If there are 5 petals in one
flower, how many petals are

there in 2 flowers?
" "‘t?-_
2E | (-
Y |

=
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(2) A cow has 4 legs.
How many legs will
3 cows have?

(3) A cycle has 2 wheels.
How many wheels do
5 cycles have?

(4) A bench has 4 legs. How

many legs do 6 benches
have?

(5) A rickshaw has 3 wheels.
How many wheels do 8
rickshaws have?




(6) Ifahenlays3eggsinone
week, how many eggs will
she lay in 3 weeks?

(7) If a garland has 5 flowers,
how many flowers will be in
3 garlands?

(8) There are 4 laddu in one
plate, How many /ladduwill
be in 5 such plates?

(9) Ifagirl wears 4 bangles, how
many bangles will be needed
for 6 girls?

(10) A week has 7 days. How
many days are there in 3
weeks?

)
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Let us complete the multiplication table of 6

Multiplication table of 6

6 6 one time Ex1 =

6+6 s | e "3 e L
B4+646 000 ] e | e Xirore = e
W - S b NS N p. - .
G4B6+B4B8+8 =0l Y I Neleweeesosn | s 5 s Eeanns
6+6+06+0+06+8 Ny (U | cuiiivinni |sus e
6+6+6+6+6+6+61 , | .. R =
6+46+6+6+6+6+6+6 | ] e S S
6+6+6+6+6+6+6+6+6 | i | e X s = e
B+6+6+6+06+6+6+6+6+6 | cecceerercmninna [ e K T

< ]21-
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Let us complete the multiplication table of 8

Multiplication table of 8

8 8 one time 8x1] =8

8+8 ] sewimmeaa | ) " SR
8+8+8 . 4 AN s
8+8+8+8 | Neeseeengm | e R ey
8584584848 A Y LN reesene | senes SIS
8+8+8+8+8+8 N U | s | R = han
S8+ G+BLEMTHN ) | s | e e e B
8+8+8+8+8+8+8+8 | i | e -
8+8+8+8+8+8+8+8+8 | e | e TR
GiQEBIBiBiB e BIBEREE | coveeomasnress | oo X =,

123



Let us complete the multiplication table of 9

Multiplication table of 9

9 9 one time O0x]1 =9

9+9 e [ 0o i =i
9+9+9 S [ S U
9+9+9+9 | e | L Moo
9+9+9+9+9 e | Eom=ams
S+¥9+9+3+9+9 N o\ | vcisiiiis | Se: s
3+F+I+FAPT+FN ) | e | s g
9+9+9%94+9+9394+9 | s | X e
9+9+9+9+9+9+9+9+9 | ceeevreviininnnn | L T
9+9+9+9+9+9+9+9+9+9 | ceeeeeeeiniennn Koo

\ ]21‘-1-.3‘
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Let us complete the multiplication table of 10

Multiplication table of 10

L

L I‘-|-t|‘:< FEEEEP

i

(78]
v ) o0 o) el

W @ = @ %) @ )
= = | & | & E 2 £ =
- ﬂ o ...u n e — o
H o % T @ = W lm.n_ W -
S 2 ks S 2 £ 28| @ 8| £ 3
=] [ = R = =) = = ). =) £
—_— —_ — —_— —_— —_— ' ko —_— —_—

¥ xx| [%%x

K K| |x¥

e x| |ex

4 x| %

o k| |

¥ | (|| ] || ][] &K

¥ | || ] || (e | K] |k

% | |aed| | || [pee| | [ex] [

K k| |4 || ede| | ] e

* X | ||| || ]|e=x] |x«

K | o] | [ek] [ae| | 9| [9ex|| (x| [9eck| ][] [

K k| k| | k] x| | [k k|| [k el | k] [k

lebe k| el | Lol |ocsl ] locwe] [oese] | 1] o] | %] |%

KK dek| (x| A ex| [aex| | es] [ ][] x| | ] [

xx k| || Ploe] Joow] | || | lex] ||l lax] |5

jeto x| [ | [ex] [ ] P [ ex] e | ] [ | [3ex] [ | o] [

H* HA| [e| || (k] ] (i) | k] (] | (] (S| ][] [ek) | k] |

pesi soie| aede| | (o] o] Joee| facde] | o] [oe| | || [ace| | || (| | o] |

x| bl ex] x| x| ek =] [l el == x] x| xx] |**x

L s laa| | loo] loes| Nlaeke] o] | loese] [aese] | loese] o] ] L] Do | || |ae

XX x| [ | [ o] | o] Pea] | 3] [3e] [[ex] [ | ] [ocae] | o] [ | o] ] | [oex] [

¥ ] (4| | ] (] | ] || ||| [ded] | Hed] || ][] [dede| | (] [l (k| [ ||k |k

xx dode| [gede| | 9| 4] | locse]| || | || [4ee| | [dee| [acde| | [ee| o] | focde| [t |l | o] | e k| |

x K gei| || | [cae| || | o] [aese| o] [ocae] Dlaede] o] | 3| [aede| | [3cae] (9| | || (9| | |oe] |

e wi| || | lesel locse] [ loeae] Laede] D laese] Jocae] Dlaeae] ool |l ae] [ace| | [oc o] [acmefd loese]| [oede| | || |4




Identify the patterns and complete the following

10 12 1% & 18 20

Instruction to the Teachers: Use multiplication table to complete the patterns.

2 4 6 8
4 5 iz
7 14: ‘21
9 48 2r
Fill in the blanks
bX2=—
i 0 g
Bx4=—
AX 4 =—
10X ] =—
Fill in the blanks
2 X~ v=§
4 x — = 32
b X — =25
b x — = 30

7 6B
?XS:-—— ?X?z__
820 = —— QP
9x 9= - 9x 7=
10x8=— 10x10=—

7 x— =49

8 x — =64

9 x — =8l

10— .=:5()



Let's multiply

6 3 4 6 7
x 4 x 7T X 5 X 5 x9
8 9 6
X 5 x 3 X 6

Solve the following:

@ If the price of one ballon is & 5, what will be the total price of 8 balloons?

e If the price of one egg is ¥ 5, what will be the total price of 6 eggs?

e [f the price of one lemon is & 7, what will be the total price of 7 lemons?

e [f the price of one hair clip is & 10, what will be the total price of 4 hair clips?
® [f the price of one biscuit is F 5, what will be the total price of 10 biscuits?

e [f 2 boys are on a cycle, how many boys will be on 7 cycles?

Let's solve the riddle
(@) 7eggsareinadish.
How many eggs
In 4 such dishes
Can you keep?

(b) 3 blades are in a fan
Which move round and round
How many blades are in 6 fans

Can you count?




Irfan, Ronit and Rangmili are friends. Each of them has 12 chicks. Let us
see how many chicks they have in all

Tens | Ones
1 2
X 3
3 6

Ronit's idea of solution
We can solve it in this way also

10 2
3 10x 3 2x3
30 6

By adding 30 and 6 we get 30

+6
36

That means, 3 times 12 is 36

Rupabhi, Jonali and Tagar are friends. Each of them has 14 betel nut trees in their
house. How many trees do they have in all?

Rangmili's idea of solution

10 4
3 | 10x3 | 4x3
30 12

Now 30 + 12 =42

That means, 3 times 14 is 42




Multiply

@ 18 b 22
® 1 x 3
d 39 e 37
2 x 4
(@ 48 () 59
6 8
Solve
(@)  Abook has 29 pages.

(c)

How many pages do 4 such books have?

[f a box holds 49 books, how many
books will 3 such boxes hold?

The cost of a ball is = 60.
What will be the cost of 5 such balls?

1297
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Let us multiply with sticks

Take 5 sticks.

Arrange them as shown in the picture.
Put 3 sticks vertically

and put 2 sticks horigontally on them.

Now, count the number of criss-cross
points created by the sticks.

The number you will get is the
product of 2 and 3, Thatis, 2x3 =06

Now, arrange the sticks and count

)




